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Distance and Continuing Education Unit - University of Ruhuna

8OO @esy) (RBO) 2016 o8msenes (2014 g»0) - 2017 e/ @)
First Examination in Arts (External) 2016 (Repeat 2014) - February/ March 2017
eog 1.1 - §B» oHime (AYDIeH)
ST 1.1 - Elementary Mathematics (MCQ)
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1. (x +7)° geecsems RD680 gfedsier sun ROWE?
& &

a). x5 + 4x*y + 6x3y3 + 6x2y® + 4xy* +y°

b). x5 + Sx*y + 10x3y? + 10x?y® + 5xy* + y°

c). x5 + 6x*y + 15x3y2 + 15x2y3 + 6xy* + y°

d). 5x5 + 10x*y + 15x3y2 + 15x2y% + 10xy* + 5y°
e). x5y + 5x*y? + 10x3y3 + 10x%y* + 5xy°
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2; (x — %) 8 yeusemne RDGE0 qfedsiesy sun ROWE?
a).x*—12x% + 54— 2+ 3 b). x* + 12x2 + 54 + 2 + 5
X X X X
c).x4+12x2—54+f—f—§} d). x* — 12x3 + 54x% — 108 x + 81

e). x* + 12x3 + 43x% + 108 x + 81

3. (2x + y)'0 ®¢ vew n@=e?
a). 6,720x%y* b). 32x5y®
c). 6,720x*y® d). 8,064x5y">
e). 252x5y°
5\6
4. (3x - ;) 8 x 68> seed gow Bag?
a). 1,620 b). —202,500 c). —67,500
d). —1,620 e). 202,500

5. e aconnens’ gF naEhe@nd od€sd 1A ¥9 6 » D08 B 0B §22938 DD BwWE?
a). 210 b). 5,040 c). 151,200  d). 3,628,800 e). 720

6,7, 8 y@dEO 88n 818880 sum 6mmdRd 08 DSBIB.

y@ vnem O emmOBD Y& 4 N8 BEY B 0O» oCH 022008 e #. gedSemes’
y&Em 5 20 88nd wudae gne.

6. e200d8 ccomBO ued yEHO BEnd 880 gRbuew vy §d® Dnews’ O emduls’
y&» eemmOs 88nd B8v gn »® 881 8890 y&» enddon VB §oznd Raxss 808¢?
a).9 b). 18 c). 24 d). 48 e). 12

7. q0® Dwews’ vgf emO8T y&E» O B8R 88w gn »® 88xnc 8880 y&»n
endSon B gamnd Buwx 8OBe?

a). 52 b). 24 c). 48 d). 12 e). 16

8. ue§ emnded gd@wm Yy e¢MO BERS 889 gRDuew »® 8Ens 8890 y&E® enddon
08 goznd Bws 8ORE?

a). 4 b). 8 c). 20 d). 12 e). 16

9. SISIL w2 DOmed gnd Bode con wids v eDmE DO ©w> Bwbe?
a). 30 b). 120 c). 60 d). 20 e). 10

10. 888 @3 5 = ww owiEm €87 3 = 83 »AEDBRRBSS 0d8wd :1B8 19 5 » Beddn O
D01 €Oowen) 3@ S0P HRES O FISWd 0288w B g320S ®w Bwg?
a). 210 b). 6720 c). 2240 d). 840 e). 4200
11.11,15,19,... emn®ed 3c®d §18 8¢ n» aifed ROWE?

a). 21,25,29 b). 23,28,32 c).23,27,31 d). 24,29,33 e). 21,24,27
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12.13,8,3,.. any®ed Sc0d 18 v¢ n» gries RO™E?
a). -2,-7,-12 b). -1,-5,-9 c). 2,7,12 d). -2,-6,-11 d). 8,13,18

13. 2®we® n 00R ve¢s U, = (—1)" X 2n eces & g1n. 000 gnnded 8§ 8¢ B ©W 10
@A ves RORE?
a). 88 8¢ B -2,4,-6. ¢ @0A v¢w -20 b). se§ 8¢ B> -2,4,-6. ¢ @0A 8¢ 20
a). 8§ s > 2,4,6. ¢es 008 wew 20 a). 8e§ 8¢ B -2,-4,-6. ¢es OB B¢ -20
a). ue8 8¢ B 2,-4,6. ¢ 00B wgw -20

14. U, = 2n —n? w0 U, = —99 @ n 8 goe Baeg?
a). 8 b). 7 c).9 d). 11 e). 10

15. eym@e= U, = an? + 2b 983 dmrns 0D. 008 a v b vy Ben goazsl 0 gnd
U, = 14 e Us = 56 @ a s» b 8 gorzs? 88008 gifer n@m¢?
a). 3,2 b). 2,-3 c).2,3 d).-2,-3 e).-2,3

16. Upyq = 3U2Z — 2, 200 U; = 2 a900d 8e§ 8¢ 32 020ezIn.
a). 2,10,298 b). 2,10,98  «¢). 10,298,266410  d) 12,144,432 e). 2,12,144
17, 18, 19 y@en wewr BERS 3800 8B YRS BECBHBID.

enm®wem 8¢ Upyy = Upyq + pUy 220088 @:30m0e 8823 480 ¢80 1». @8k >10»
and p Ben gosB. U; = 3 wo U, = 8 30 & ¢1».

17. U; esewo p 8823 ersleds BD168 ymwas pd=lg?
a).8+p b).3—-8p c).3+8p d).8—3p e).8+3p

18. U, e p 882 ¢eds BO16E ymons n@=lg?

a). 8+ 11p b).8—11p «¢).11+8p d).11-8p e).8+8p

19.U, — U3 = —16 »8® p 8 gos dx¥exsy

a). 3 b). -2 c).2 d). -4 e).-3
2 1 3 0 2 2
20.A=<4 2 6)wa=<3 1 S)mQA—Bazsi@aﬁ
3 5 4 1 3 2
-2 1 -1 2 -1 1 2 3 5
a) (—1 -1 —3) b). (1 1 3) .17 3 9
-2 =2 =2 2. Z 2 4 8 6

6 14 11 2 4 3
d). (12 28 26) e.l1 2 5)
19 23 29 3 6 4
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21 80 25 e83 yBwOEO 88 13880 sun 8dmSew 8RB Wb WS
2x+y—3z=17
X=y4+22=~3
3x+y+z=4.

o®® u¥miem BvRBw 50 WIBM WS Beslws @B F».

21. gom 88 mSem 8B AX = b 020560 %0 8B 88900 @ ®3TzN A 0wed
Addemed gow Bae?

a).-23 b). -1 c).-13 d).-12 e). 11

22. A 8 002 3086 dxes’y

-3 -4 -1 -3 -5 4 -3 4 -1
a). ( 5 11 —7) b). ( 4 11 —1) c). (—5 11 7 )
4 1 -3 -1 7 =3 4 -1 -3
3 -5 -4 -3 5 4
d). (4 -11 1 ) e). (—4 11 1 )
1 -7 3 -1 -7 -3
23. A »»s0e80d 890Q% HB0sed eusd® 5O A mmunesd 8®dx3¢ (Adjoint) dx¥exsd
-3 5 4 -3 4 -1 3 4 1
a). (-—4 i s s > b). (—5 B ) c). (—5 -11 7)
-1 -7 -3 4 -1 -3 -4 1 3
-3 -4 -1 -3 -5 4
d). ( 5 11 —7) e). ( 4 11 —1)
4 1 -3 -1 7 =3
24. A m0wesd yBect®s A dxtess

, -3 5 4 X =3 =4 =1 L 3 4 1
a).E(—tl- 11 1) b)'—_13(5 11 —7) C)-1—2'<—5 =3t 7)

-1 -7 -3 4 1 =3 -4 1 3
" -3 4 -1 3 -3 -5 4
d)._—13 -5 11 7 e).E 4 11 -1
4 -1 -3 -1 7 -3
25. a®mdem vdDBeud due® Doy
= — . . =37 g 20 . T
a)x=1y=2,z=-1 b).x—13,y—13,z— = c) % SRS s
13 26 -13
d).x—a,y—a,z—? elx=-1y=-2,z=1
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